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Write programs by C++ language that simulates the grammar of macro-preprocessor:

A Program checks keywords.
A Program checks identifiers.

A Program checks keywords and identifiers.

A Program check the number.
A Program checks mathematical operations.
A Program checks punctuation codes. H.W. 1.

A program checks literal. H.W.2. in one line

Write programs by C++ language, which call the grammars of macro-preprocessor and
identify the errors.H.W. 3.
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(3)
(4)
(5)
(6)
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(3) The Role of Lexical analyzer phase .
g Silal) 208 £ lgi) .8
Keywords giliall cilalS paas oo g hual) dyg Silall s2c ) LA

Operation Description

+ OP_ADD ... while « for <main «if Jis

- OP_SUB Jdentifiers cldpall paal oo g hual) dyg Silall 320l .B
* OP_MUL . linel ¢ x1 ¢y ¢ X Jia

/ OP_DIV
: %pP_iSTS Number s nuai ge dgjuall g Silal S2e @) .C
S Op GT 836E-4, 10.55E+6 , 72.4E10 ,3.542 ,3.5,3 Jia
<= OP_LE
>= OP_GE .Operators Jalgadl aaad e ddgjual) dyg Silall 53 d .D
== OP_EQ o= ® o/ ML&AJ‘ Jalgadl

1= Op_NOT EQ d=(>z i<z = =< > bW Saled) i
&”& %PF;AC')\'RD (") Not « (|)OR ¢ (&&) And Ahiall Jalgall _jii

! BB N Assignment = Pa¥) dde v

- ++, -, =, &=, =,%=,/=,%= = += &Sl Jalgadl Ly

Punctuations Jasiiilly Jualsdll maad oo Algjusall dyg Silal) Bacldl) LE
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(1) A Program checks keywords. (4)

1 tinclude <iostreams 1 #include <iostream>

5 tinclude <cstdios 2 #include <cstring>// i o ’h“
3 ginclude €string.hs - 3 #include <cstdio> ol il
4 using namespac'.e-std; [ Program (27'1) ] 63 dhulal 4 using namespace std; | . |

5 int main () 5 char keywords[e] [10]={"for","1f","while", "switch", "else"};
6 [ 3 int main()

7 B TSI TT1=["far" Wifw Wyhile® Wayitohmo L 7 H

g ZE:: ;EI:EI}E-L;.:;' FoRt TR TuRaEt, Tan et felsen 8 cout << "Enter a lexeme: "; [ Program (27'2) ]
g cout << "inter your Lexeme: " ; 9 char x[10];

10 gets (Lexems) ; 10 gets(x);

11 int 5 = 0; 11 bool 1sKW = false;

12 for (int i = 0 ; i < 5 ; i++) 12 for (int 1 = 0; 1 < 5; 1++)

13 if (strcmp(Lexeme , K W[i])== 0) 13 if (strcmp(x, keywords[i]) == 0)

14 [ [ 14 [H |

15 5=1; 15 15KW = true;

16 break; 16 break;

17 i } 17 E |

18 if (5 == 1) 18 if (isKW)

15 cout << "Accepted. The Lexeme is keyword" << endl; 19 cout << "Accepted The Lexeme is keyword." << endl;
20 else 20 else

21 cont <<"Rejected.The Lexems is not keyword"<<endl; 21 cout <<"Rejected.The Lexeme is not keyword."<<endl;
24 return C; 22 return 0;

e 23 }

. o o - . . inter your Lexeme: if
1) Qi) G b e D) Break a9l dibetun i B2l Accepted. The Lexeme is keyword
whiguinl wigu aldad| leXEME (90 gl duibuii 5 gall dgulSdl 2§ . —

Juubid 1229 5 0l ko] 4ighe@o & wiel] (& 3] o] b inter your Lexeme: 1fif
. Sualetuial | Gl§) (& Rejected.The Lexeme is not keyword




Regular definition of Id (Grammars) (5)
d C, C++ identifiers are strings of letters, digits, and underscores.

' nonterminal

production il |yt 3
— 1 ] 3 et .,?!' i
- .. | S i Gl | S 12
Identifier — Letter | _( Letter | Digit | ) 23S o) e
Letter — A|B|..|Z|a|b]...|z ﬁ—ﬁQ‘&‘—is
.. 13N RV
Digit — 0][...]9
Shorthand Aasall sdgs 4885 ¢l ¢Sa OR gi (it (ol gl | 0 5
letter — [A-Za-z_ ] — —
digit — [0-9] Ex: ldentifier is accepted Ex: Identifier is rejected
id — letter_ (letter_| digit)* | X @x
X1 1X
Shorthand 4iwall sdgy 4585 ) ¢Say Student Stu.dent
L — [A-Zaz ] mark 3 Mark+3
D — [0-9] _ !
ld - L (L_|D)" Paracetamol 2020 Paracetamol 2020#
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-r_--'_-__-\.-\_.l.':

include <iostreams
-

<CELCring

n=ing namespace =td;

int maini)

int state =

char Lex[10]:
cont << "enter

gets(Lex): L =
do

I » Exrror = 0 , i

vour lexeme: ";

strlen(Lex) :

switch (state)

L

(2) A Program checks identifiers.

(6)

L| |D

[ Program (28) ]

Start

L|

Transition diagram of Identifier in C++

case if ([([(Lex[i]== 125 (Lex[i] <= 1 [ [Lex[i] == 1 2& (Lex[i] <= 1 [(Lex[i]== 1]
state = 1;
else Error = 1;
break:
case 1: if (((Lex[i]== 12& (Lex[i] <= 1) ([ Lex[i] »= 125 (Lex[i] <= 1) (Lex[i]== I
[[(Lex[i] == 125 (Lex[i] <= 11)
state = 1. 0yl wi§ il gaadd iSalpha dlld o e o
else Error = 1; R z R . w & g = . ay e -
break: IR o0 Sl 13 1-9 oo pliydl gaadd isdigit allag & wwadld
1++; case 0: if (isalpha(Lex[1]) || (Lex[1i]== ) )
! ) ] state = 1;
while ((i < L) && (Error == 0)): else Error = 1;
if ([(state == 1) && ([(Error == () break:
| oombes Tine Lexems i3 Recepred IDARY |case 1: if (isalpha(lex[il) || (Lex[il=='_') || isdigit(Lex[il))
cont<< "The Lexeme iz Rejected ID n": state = 4;
) else Error = 1;
return O ;
break;
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(7)

# iostrea
finclude <cstring
uaing namespace =td;

How to write a program by C++ to check the lexeme is keyword or identifier or not both?

int maini() |
char k w[5] [10] =

char lex[10]; int state = 0, Error = 0, i =0, L, t = 0 ;
cout << "enter your lexeme: "; cin.getline(lex, 11l); L =strlemnilex) ;
cout << "Length the lexeme: "<< L << endl;
do | [ Program (29.1) ]
awitch (state) {
cage O0: if (isalpha(lex[i]) || (lex[i] ==
state = 1 ;
else Error = 1 ; break;
cagse 1: 1f isalphailex[i])) || (lex[i] == 1]
state = 1 ;
elge Error = 1 ; break;
}
it+ : plaﬁ—nlﬁiﬁdﬂ
} G kil | 2k STICMP() Gl
while i< L) && (Error = 0)}); ud”u' Miﬂ @M‘ gi
if state == 1) && (Error == 0)) " .Char 3&) QAM
{
for (int 3 =0 ; 3 < 5 ; j++i
if (strcmp(k wlj]l, lexi=— () < —————
[ £t =1 ; break ; }
if (€t = 0) cout << "The lexeme is Identifier “n" ;
elae cout << "The lexeme is keyword sn" ;

}

elae cout << "The lexeme is not E.W

return O ; }

o

["for","if", "while", "switch", "else"};

8 el | ey 10 bt (0 e ¥
ot bl el Qi) ey | ki 19 <CSTFING>
char (gulbmed| s e )omdall wiboulSll
dghao Jaall Lexeme wmdl 8slyd weig

. char (i 94 93 ata]

Ol guls dmilidetd] (# LEXEME ] g 0ai B2
D o KIW. jpb ookl ol - ¥ 0l 1D 6 JR§ 1D wudl

isdigitilex[i])))

ID sn"™ ;

RUN

enter your lexeme: else
Length the lexeme: 4
[IThe lexeme is keyword

enter your lexeme: Mark 1
Length the lexeme: 6

The lexeme is Identifier

enter your lexeme: Mark @
Length the lexeme: 6
The lexeme 1s not K.W or ID
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using namespace =std;

[ Program (29.2) ]

Flint maini) |

string k w[3] = {"for", "if", K "while" "switch", 6 "else"};
s2tring lex; int state = 0, Error = 0, i =0, L, £t = 0 ;
cout << "enter your lexeme: "; getlinel(cin,lex); L =lex.lengthi)
count << "Length the lexeme: "<< L << endl;
- do {
E awitchi(state) |
cage 0: if (isalpha(lex[i]) || (lex[i] ==
state = 1 ;
elge Error = 1 ; break;
cage 1: if isalpha(lex[i])) || (lex[i] == 1| | tisdigit
state = 1 ;
elae Error = 1 ; break;
- }
i++ ;
- }
while i < L) && (Error = 0)}; pHﬂHz
. if , state == 1) && (Error == 0)) u;m||ﬂ3trcmp() iadla
1 . . . 5
for (int 3 = 0 ; § < 5§ ; j++) (ool | i g G i | 3
if [k wli]l = lex) < CChar jewy digieae ud
[ £t =1 ; break ; }
if (&t == 0) cout << "The lexeme is Identifier “n" ;
aelae cout << "The lexeme is keyword \n" ;
B }
elae cout << "The lexeme is not E.W or ID “n"™ ;

2 return O ; }

(8

<SLring> & yuldeml] ekt 10/ dihuiemmnd| i e &
CIIPTSTP AN TP FECEIN PLTIN

;| 85l ymi oul Lmintel STIING (ouilued| W5 Gui 5300
. string bl $ol 3 Jaadl Lexeme wmdl

(ol u|a.-|| @ Lexeme mdl yauid wai ¥

Syl pomkend (G 2p|ID9.bJAgID-|Ig9.|I.a
1D o K.W.

lex[il)i)

RUN

enter your lexeme: else
Length the lexeme: 4

[IThe lexeme is keyword

enter your lexeme: Mark 1
Length the lexeme: 6

The lexeme is Identifier

enter your lexeme: Mark @
Length the lexeme: 6

The lexeme is not K.W or ID
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int state = O Error = O [ i =

r

[ Program (29.3) ]

i L

r

= = i s

r

(lezx[di] ==

'ler[i]'=

(9)
llnulSl il | G (0 i) ot 22 ¥
ool bentmiatel . STIING (gulltetd| bl &) Guuididlf
(ol EGui 92 Jaaud! Lexeme | &) g

char ddkal digiuae

- "M L erndl ;

T EE(lex[di] ==

}5&{lex[i]-=
tlezx[d]= i

N1 d-ul-ﬂ.l i STTCTNP () (0 | it

string k wl[l0] ={"for™, "if", "while™, K "switch™,6 "else™]};
chayr lex [1L0]; ocoumt "enter Tour lexemse: "
getsilex); L =strlemnilezx); oouat "Length the lexems
do |
awitchistate)
{
cEase O 4Af lex[4i] TE&(lex[i] == SO T I ¢
Il i1lex[i] == 3l
state = 1 ;
=1 = Error = 1 ;
bEraeak
case 1 - 4Af lex[4i] TE&(lex[i] == SO T I ¢
11 (lezx[i] = TEE (lezx[di] <= I I
state = 1 ;
=1l == Error = 1 ;
bEraeak
}
i++
}
ki 1 e 0 a I. R Error — ;
if state == 1 & (Error =— O
i
for (imt 3 = O ; 3 = &5 7 J++
if (k w [J]1 == lezx= <
{
t = 1 ; Ebreak ;
}
ifg t == O ot "The lexems=s is ITdentifierxr ~m"
=1 a3 ot "The lexems=s is keyword Sm"™
}

el==e oot "The lexems=s 1= o

et O I3

EE.W o IL ~m"™ ;

ol sy o] (g bt | lnin G eyt

char

lenter your lexeme: else
Length the lexeme: 4
The lexeme is keyword
enter your lexeme: Mark 1

Length the lexeme: 6

The lexeme is Identifier

enter your lexeme: Mark @
Length the lexeme:
The lexeme is not K.W or ID
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finclude <iocstream
#include cstring
#include string
naing namespace =td;

int maini) |
char k w[5] [10] =
string lex; int

cout << "enter wyo

L =lex.lengthi);
do |
awitchistate
{
caae O
case 1:
}
i++ ;
}
while i L) &&
if state == 1]
r
L
for int 3 =
if kE wi]j
[ & =
if (£ = 0) &
=las c
}

elase cout -
return 0 ;7 |

["Eor™, "if", "while" "switch",K "else"};
state = 0, Error = 0, i = 0, L, t = 0 ;
ur lexems: "; getlime(cin, lex);
cout << "Length the lexemese: "<< L << endl;

[ Program (29.4) ]

(10)

il il Ao (0] 03 22
ol bmtntnd CNAT (ol il | bl G 8 3 G|
(ooibed Eomi 93 Jaad) Lexeme mall Bl yd
) . string

isdigitilex[i])}

RUN

enter your lexeme: else

Length the lexeme: 4
[IThe lexeme is keyword

Mark 1
6

enter your lexeme:
Length the lexeme:

if (isalpha(lex[i]l) || (lex[i] ==
state = 1 ;

elae Error = 1 ; break ;

if isalpha(lex[illi || (lex[i] == 1]
state = 1 ;

elae Error = 1 ; break ;

Error == 0 ; ﬁHﬂug
g& lError == U dund J 0L e strcmp() dudld
0; 35 <6 ; 540 (bt | 40u i et | 22 ¢
1= lex) < cchar e, digieae g
1l ; break ; |}
ont "The lexemese is Identifier wm" ;
ont "The lexems is keyword n" ;

"The lexems is not E.W

or ID o™ ;

The lexeme is Identifier

enter your lexeme: Mark @
Length the lexeme: 6
The lexeme is not K.W or ID




f Type Typical Size Minimal Range
| in Bits
| 8

“char 27 10 127

“unsigned char 8 0 to 255 intw, vy, z;

signed char 8 127 to 127 long int x; + 2,147,483,648 Jashl) aall l
int 16 or 32 -32,767 to 32,767 g Lo

“unsigned int 16 or 32 010 65535  unsigned int x; 65535 3 0 5L (s s

| unsigned long x; Gslid A0 BN 9 Jashll maa -

int X; + 32,767

“signed int 16 or 32 same as int : . 5
“short int 16 32,7670 32,767 : (haall sl g4 055) (Alal g ol | 2
unsigned short int 16 00 65,535 I 10° 41 107 <
5 u_nS|gne ° o_r " o : ~double z; 10398 107308 ddcliag 483 LA8a -
~signed short int 16 same as short int : _ R "

| : ~ Long double i; o 1074932 ddcliae 48 Jygh A8a

|0ng Int 32 104932

~signed long int 32 same as long int -
N - . 3a ) £ i) -
~unsigned long int 32 0 to 4,294,967,295 -

| : : - char ch; 18 aal g Ja Jy

float 32 Six digits of precision ch='a" culy 1 Adgh

“double 64 Ten digits of precision  §

long double 80 Ten digits of precision et e |10 10 MﬁijbP

| ~ name=""lrag-----/0""; il

All Data Types Defined by the ANSI/ISO C Standard



Q Regular definition of Unsigned numbers (Grammars) ‘

* General grammar Unsigned numbers (integer or floating point) are strings such as 3,10, 5280, 0.01234,
6.336E4 . or 1.89E-4 the regular definition ¢ , c++, Pascal language.

(12)

d A. How to write grammar of unsigned number in C++ language:

/ digit 0|9 I

AN T AL O s Gy 5l g |
digits > digit (digit)*

a2 faalg opag

OptionalFraction ——, . digits | £ \R Y9 A Gasdll Jals La dllal) Lgina®

. - A8 ) Bya i gl ilaa o
OptionalExponent — (E (+|-|¢) digits)|e

Number » digits OptionalFraction OptionalExponent | syl Ny Y L) o A s Lgima e
Wumher » digits (. digits | £) (( E (+|- £) digits) | £) _/
1 Another way: How to write unsigned number in C++ language:

N > 15 ¢ DS)?{E [+|—]‘$DS }:: ‘é'ﬂ&ﬂm&f&ﬂ'.#ihuiﬁhiéﬁ Ol oo ledaa +

500N Al Y ol kb Banl g B e Al Lgdd g2 (gl Lgina 7




Regular definition of Unsigned numbers (Grammars) o850 25l oy el 459 w0 (13)

] B. How to draw one transition diagram for unsigned number instruction?

ﬂiigit 0]..|9 \

digits — digit (digit)*

OptionalFraction — - digits | &

OptionalExponent — (E (+[-| &) digits) |«

N““lhﬂ - digits (. digits)? (E [+]-]? dlglts)/
«alaas
l D'f rﬂ J8dy Adall allad) 8 5353 sallnumbers ) Bda a3
5 saanall ClalSl B Gl ol LaS) geali sal) 5813 B Gaaa
93 5 ,45 St JA13 Beia La jaa g Ly 945 2l q:anI{E','w:::rds
12E+4 E+12 Sl | A Al
77.3E-10 T7.E-10 ;"-mj {chara:terg} Jaaall undy Tl A aly Ladl
Etc. al number 43 <islexeme JS4y daiand g daskli 5
bl pall el e eyl Y
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Finclude <iostreams> rogr for igned numbers in c++ g case 3: 1If ((Lex[i] »>= '"0')} && (Lex[i] == '2'}]
finclude <cstdios: 33 state = 3;
finclude <cstring> Finclude tri 34 else if (Lex[i] == 'E'") (14)
n=ing namespace std: state = 4;
ot o) (3) AProgram gheckithe number. | 2= = %
Z 37 break;
int i = 0 , Error 0 , state = 0, L 38 case 4: if ((Lex[i] »>= '0') && [(Lex[i] == )]
char Lex [10] string Lex; 35 state = &:
cont<< "Enter a lexeme to check of numker: ": 40 else if ((Lex[i]=='+") (Lex[i]=="-"))
gets (Lex) Jetline (cin, Le 41 state = &5:
L= strlen|(Lex); Lex.length 42 else Error = 1:
do 43 break;
3 Program (30) 44 case 5: if |(Lex[i] >= '0') £& (Lex[i] <= 1)
switchi(state) 45 state = £:
) ) 46 else Error = 1:
case 0: if (| (Lex[i] =>= &% [Lex[i] <= 1) 47 O
atate = 1; 48 case 6: if! | (Lex[i] >= | 55 (Lex[i] <= 3y
ElSEkEIIDI - 45 Lstate=b‘ """"""" -
e pase 1: i;e‘?(]z.ex'i' = 2& (Lex[i] <= 1) =0 else Erroxr = s :-__&_~;z_u___-__.___'
state = 1; =1 break: aRCLE g J|M|95ﬂ !
else if (Lex[i] == | gg . L ('Sd'gjt“( Lex[i])) |
state = 2 ’ L el gaadi ddla isdigit
else if (Lex[i] == 'Z') i EE _ _ I 0-9 o digit ek J& |
state = 4: =i ‘i_ﬂ'lllE (i < L) .55 (Exrror == u]_]; |___T __________ - -
else Error = 1: o6 if ([[(state == 1) (state == 3] (state == g)) && (Error == 0})
break: o7 cont<< "Accepted. The lexems is number /n";
case 2: if ((Lex[i] >= ss (Lex[i] <= e || else
state = 3: S5 cont<< "Rejected. The lexems is not number /n";
else Error = 1; 60 I return 0;
break; el o




Grammar of Operator (15)
OP — +[-[*[/[%[=|>[<|![+=][=|*=|=| %= == <= & | |7 FH - | &&| ||

Shorthand
OP=([/[%[=]>[<[D(=)?+FF)?[-F)? | &&F)[|(|=)

Transition diagram
of Operators




Grammar of Operator (16)
OP = +|[-|*[/[%|=|>|<|!|+=]|=|"=|=]%= == <=5 |&= | |7 [+ - | &&[ |

Shorthand
OP = (/% [=][>]<[)(=)? | +¢=)? | -(D? | &&) [ |([[)

=0r+

y Or ! Or < Ql‘ => 0

Transition diagram
of Operators

~Ov )




Lo T = T I s TR BEY S L B - R B
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L N e B e Y = TR o IS Sy L Ty o R T B e TR N o S e = S I = LN o o RS -y L R O R S ]

$include <iostream>//program to check the lexeme is Operator or not.

$include <string.h>
#include <cstdio:
nsing namespace std;

oY) 48y

(4) A Program checks operations.

int main()
=k
int state = 0, Error = 0, 1 = 0, L ; char lex[10];
cont << "Enter the lexeme of Operator to check it: ';
gets(lex); L = strlen(lex);
Hdﬂ[ [ Program (31.1) }
switch (state)
- {
g case 0 : if [(lex[i]==""")||{lex[i]=="/")||(lex[i]=="%"])]|]| (lex[i]=="!")
- (lex[i]==">") [ | (lex[1]=="<") || (lex[1]=="=")
state = 1;
else if (lex[i] =='+"]
state = 3;
else if (lex[i] =="-")
state = 4;
else if (lex[i] =='1")
state = 5;
else if (lex[i] ="]"])
state = ¢;
else Error = 1;
break;
cagse | ¢ 1f [(lex[i] =="=']]
state = Z;
else Error = 1;
break;

31
32
33
34
33
36
31
38
39
40
41
42
43
i
43
46
47
48
g
a0
2l
94
23
24
23
26
a1
28

case 3 : if ((lex[i]=='-'")||(lex[i]=="="]]
state = 2,
else Error = 1;
break;
if ((lex[i] =='-") ||
state
else Error = [
break;
case 5 : 1f ((lex[i] =='¢&") ||
state = 2,
else Error = 1;
break;

(17)

case 4 : (lex[i] =="="])

]
]

(lex[i] ='="))

case ¢ : if ((lex[i] =" ") || ([lex[i] =='="))

state = Z; <:>
. &
else Error = 1; S0,

break;
defanlt : Error = 1 ;
: }
it+;

-]

while ((1i < L} && (Error == 0));

if (((state==l)|| (state==Z) || (state==3)|| (3tate ==4))&&(Error==0)]
cont<< "Accepted. The lexeme i3 operator in C++ language.\n";

else

cont<< "Rejected. The lexeme i3 not operator in C++ language.'\n";

retarn 0

-]
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$include
#include
$include

<CcsString>
costdio>

n=ing namespace =std:;

<ilostream

= 5 5 = T

= =Rl =] 71 = ] 1

(4) A Program checks operations.

O NoL. (18)

Al 4% )

| char arr[Zc] [3] = {"+", " Wogw ©w__mw ®wgw Wggw, mim_ omwaw owmgw ooowmpgm
T "-"Ir"f' "%"F "{"F "::'"F "="|" "=="|" "E="r "]="|r "_="|r "+="|.-
""'="r "-"'I-="r "%="r "{="r "}="r "|="};
int main()
=K [Program (31.2)] Grammar of Operator
char lex[10]: OP = +|-|*[/|%|=|>|<[![+=]|=["=|=]|%=[=P= <= &= | |5 [+ - | &&[]|
comt =< "Enter a Lexems: T/ S]gr:i]ld(*If’l"ﬁr|=I>I<I!)(=)?\+(+I=)‘i'|—(—|=)‘-’|c'»~’c(éi=|=)ll(||=)
gets(lex) -
int s = 0;
for (int i = 0; 1 < Z&; 1i++)
| if (strcmp(lex, arr[i]) == 0)
=] [
= 7 s T Operators
break:
s }
if (8 == 1)
I cont << "Accepted. The lexeme is Operator™ << endl;
else
I cont << "Eejected. The lexeme i=s not Operator”™ << endl;
retaorn O;







H.W. 3. Write programs by C++ language, which call the
grammars of macro-preprocessor and identify the errors.

getline(lexeme)

(20)

< Keyword> 3 saaall cilalSl) yids 4, 9 Sila acld

< Identifier> i all ;535 4y 5 Sika 32018 [ Program (34) ] False

<Number> 4ale 3 ) guay a8 11 5045 4y g Sila Bacd
<Operator> dsbual! cilblasd) ,0a0 4y Sila bacld
<Punctuation> kubiil) g ALaldl) ;045 dy g Sl basld
< Literal > ganaill Aade ¢ dlaal) 085 459 Sila bas
Main (Algorithm)

witliad bR (1D ode K.\W.) Juvisluisid |

getline(lexeme);

If (lexeme == < Keyword>) then lexeme = K.W,
else if (lexeme == < Identifier>) then lexeme = Id;
else if (lexeme == <Number>) then lexeme = number;
else if (lexeme == <Operator>) then lexeme = Op;
else if (lexeme == <Punctuation>) then lexeme = Pun;
else if (lexeme == < Literal >) then lexeme = L.iteral;

else lexeme = error;

Cond
Lex == <kw>

Cond
Lex ==<ld>

False

Cond
Lex==<Num>

False

Cond
Lex == <Op>

False

Cond
Lex==<Pun>

False

Cond
Lex == <Literal>

False

Lex = Error

...... - Lex = kw

...... Lex=1d —

Lex = Number

v

rrrrrr Lex=0p

...... Lex = Pun 1

—i{ Lex = Literal

L A




